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����.'�/0� 1�,2�**3� ��+� ��� �� �!����0� $����	$�4����$��%�	�

�"�������	 ��	 ����	 �����	 �������	 ������� �	 !� �	�����"��������	 ����# ��$#� �	 ��%���	&��	 ��"
'����(�����	 �� &�	 ��	 ����	 ���#���	  !	 �������	 ������� �	 !� �	 ���$#�$���	 ���	 ��	  �#�������(
#����#���	#�$���	)%	�$���")���	�����!����#��	��	&��	�� &�	����	���	������%	 !	�������	�����"
�� ��	��	 ���	 �����!����#�	��*��$��	#��	)�	�+$��	� 	���!	���	������%	 !	�������	������� �	!� �
�	 )��#,) �%	 � $�#��	 ��	 ���	 ����	 ����	 ��	 ���	 �����!����#�	�����$�	 ���	 '��$�	 ���� �#���
���#��#���%	-�� �	 ��	������ ��	 ���	��($���	��������#�	 !	 �������	 ������� �	� ��	� �	 )�%	 ���
.��)���	��&	���	��� ��������	�	� �"� � � ��#	#����#���	&���	#�����%	�� � $�#��	�*������

���#����$	 �������	 ������� ��	 �����!����#��	 � ����-��� ��

�����	��#��'��	�������
/	�##�����	! �	�$)��#��� �	�������
�

�!	���	��������$��	 !	�	) �%	�����	�) '�	�)� �$��	-�� �
���	) �%	�����	��(���	0��	#����#�������#�	 !	�������	��"
����� �	������	 �	���	 ���#��	���	(� �����#��	�����"
�����	 !	���	�������(	) �%	��	&���	��	���	��������$��	5�
0��	���#����	��������%	 !		���	������ �	61ω�	52	!� �	���
�$�!�#�	��	����������	��	�## ����#�	&���	3��#�� !!4�	��&
)%	���	�*������ ��

,cos),(),(),( 11 θωϑωω TUATJ = 1�2

&����	ω	��	���	!��+$��#%�	 ),( 1ϑωA 	��	����#�� ���	���#����
�)� �)��'��%	1������'��%2�	 1θ 	��	���	��(��	)��&���	���	� �"
���	 !	���	�������(	�$�!�#�	���	���	����#�� �	 !	 )���'�"
�� ��	 ),( TU ω 5	������%	 !	���	����(%	!�$*	 !	)��#,	) �%
������� �	&��#�	��	����������	)%	����#,4�	! ��$���
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&����	$7	 ��	 � ��-����4�	 # �������	 0��	 # �!!�#����
),( 1ϑωA 	����������	���	!��#�� �	 !	���		����(%	!�$*	 !

�*������	�+$���)��$�	������� �	&��#�	��	�)� �)��	)%	���
) �%�	� �	��	�)� �$��	)��#,	) �%�	 ),( 1ϑωA 	6	��	��	�*"
������ �	1�2	���	����	# �!!�#����	����������	&��#�	!��#"

�� �	 !	)��#,	) �%	������� �	��	�������	)%	�	����	) �%�
��� &�	&���	����%-��(	�������	������� ��	&�	&���	��!��
� 	# �!!�#����	 ),( 1ϑωA 	��	������'��%�

.��	$�	# �������	! �	�*������	�	��%��		&���		���#,����
��	# �!!�#����	 !	�)� ���� �	 ),( Tωα 	���	# �!!�#����	 !	��"
!��#�� ��		!� �	 ��	�$�!�#�	 ��%�	 ),( 1ϑωR �	7���	���	��%��
��	 ��+$�	1 ),( Tωα ��88	�2�	���	���	��(��	 !	� ���	��������
��!��#�� �		��	������	����	(	6	�	5	81ω2�	&����	81ω2	��	���
��!��#�� �	# �!!�#����	! �	� ����	��#����#��	� �	�	�����"
������	��%��	1 ),( Tωα ��99	�2�	 lTA ),(ωα= 	:�"
;�	0����
���$���	# $��	����	 ��	� 	)����'�	����	�����	��������#���
���#��)�	# �������%	���	���	��#$���������	 !	�������	��"
����� ��	<�'����������	�����	���	#������	�%������		�������
������ �	 !	&��#�	��'�����	�������#���%	!� �		����	��"
�#��)��	 ��	 :�"
;�	0��	���	 !	 ����	�����	 ��	 � 	��$�%	 ���
�������	������ �	 !	���������������	�����	��������	���$#"
�$���	1�$#�	��	��)�%"��� �	��� ��� �2�		0��	��#$���������
 !	�������	������� �	 !	����	��%���	&���	!����	�����#���	��
���	+$���$�	��� �%	:=;�	7�	�� &	����	��#$���������	 !
�������	������� ��	&��#�	&�	����$���	��	 $�	�%������
���	&���	���#��)��	)%	3��#�� !!4�	��&	1�2�	�!	#�����#	�$���"
)���	�����!����#�	��	��,��	��� 	�## $��	��	 ),( 1ϑωA �

.��	 $�	 # ������	 �	 �����	 ��������	 ��%��	 ( )lz ≤≤0
���#��	 �	�	�$)������	19	8	�2�	���	�$�!�#�	9	6	�	)���(	��	�
# ���#�	&���	 '�#$$��	7�	&���	 ��!��	 � 	 �����	�����
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��>�#���	:����	��������	���	�������	��!��#�� �	������$���
���	(�'��	)%
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k jjz −= � 1=2

�:	��	���	# ����*	��!��#��'�	����*�	$τ	��	���	��"�����	&�'�

'�#� ��	 


= jzj kkk ,τ �	< ���	����	��	���	#���	 !	� ����

��#����#�	 ( )0=τk �	 ( ) ( )s
ij

p
ij rr −= �

� ������	�	������	� ����-��	�����	&�'�	��#�����	$� �
���	��%��	!� �	���	'�#$$�	&���	���	��(��	 !	��#����#�

1θ �	��	����	#����	 ( ) 1sinθωτ ck = �	0��	������$���	 !	��"

!��#�� �	!� �	���	��%��	���	(�'��	)%
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@���(	?+�	1�2	���	1�2�	&�	��%	&����	���	�)� ����'��%
 !	���	���$#�$��	$����	# ��������� �	��	! �� &�
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&����	 ps,=ν �	��� &�	&�	 ���$��	 ����	 nn ReIm << �
@����	����	���$���� ��	���	��!��#�� �	!�#� ��	��:	��%	)�
�������	��	����	'��$���	�)� ���� �	 !	������� �	��	��,��
��� 	�## $��	 ��%	��	���	�*� �������	!�#� ��	��	?+�	1�2
���	1�2�	7����	������(	��� $(�	���	��%��	���	��#�����	 !
��������%	 ��	 (�'��	 )%	 ���	 !�#� �	 ( )2cosexp θαη l−= �
&����	���	��(��	 2θ 	��	�������	� 	���	��(��	 !	��#����#�	)%
���	������ �����	 2211 sinsin θθ nn = �	������%�	! �	�)� ��"
��'��%	 νA 	&�	(��
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( )ps
ijij rr ,= 	 ��	$���	! �	 psA , �	7���	���	��#�����

��(��	��	� ����%	� �"� ����-���	���	�)� ����'��%	��	�����"
�����	��	 ( ) 2ps AAA += �

�!	��	?+�	1�2	 12 2 >>≡ φlk z �	���	�)� ����'��%	 ( )ωνA 	��
�	!���	 �#�������(	!$�#�� �	 !	ω�	�'���(��(	 ( )ωνA 	 '��
���	�����	φ	1���	���$��� �	&��#�	��	�����-��	! �	�	� ������"
��������	���$#�$��2	(�'��	���	�*������ �
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&����	 2
ijij rR = �	� �	���	 ���#���%	����	��%��	1������	)�"

#�$��	 !	&��,	�)� ���� �	 �	�����	���#,����2	&��#�	��
���#��	 ��	 '�#$$�	 ( )RRR == 2312 �	 ���	 ! �	 ������� �
�� ��(����(	#� ��	� 	���	� �����	�)� ����'��%	1A2	��	��"
�$#��	� 	 ( )lTA ,ωαν ≈ �

�!	���	�����	��	��������%	�����������	���	����#��%	�����
���������	����	(������	�*������ �	1�2	! �	���	�)� ����'��%�
&��#�	��,��	��� 	# ��������� �	�����!����#��	�� $��	)�
$���	��	#��#$���� ��	 !	�������	������ ��	0�$��	��	 ����
� 	#��#$����	���	���#����	 ��������%	 !	�������	������ �
���	���	� ����-��� �	�� ��������	&�	&���	$��	���	�*����"
�� �

( ) ( ) ( ) 111 cos,, θωθωθω νν UAJ = � 1��2

&����	������'��%	 ),( 1ϑωνA 	��	(�'��	)%	?+�	1�2�	�� �	?+��

1�2	���	1��2�	��	! �� &�	����	���	���#����	��������%	 !	����"
���	������ �	 !	�	�����"��������	�����	 �#�������	��	�	!$�#"
�� �	 !	���	!��+$��#%	���	 !	���	��(��	 !	 )���'��� ��	0��
������$��	� �$���� �	�������	 �	� ����-��� �	 !	����"
���	������� ��

0��	���#����	������'��%	#��#$�����	!� �	?+�	1�2	���
1A2	��	�	!$�#�� �	 !	�	&�'����(��	λ	��	�� &�	��	��(�	��	0��
#��#$���� �	&��	#������	 $�	! �	 01 =θ 	$���(	���	! �� &"
��(	�����������	�	6	=�	µ��	�	6	
�=�	8	6	��
�	α	6	���	#�5�

1&�	���$���	����	��	8�	α	� 	� �	������	 �	λ2�	��	����
!� �	��(�	��	���	������'��%	 !	�	�����"��������	�����	1#$�'�
�2	���(��	!� �	����	� 	��=��	��	���	����	�����	���	����"
��'��%	 !	�	� �"�����"��������	�����	����	���	���	����	��"
���������	� ��	� �	������	 �	λ ���	�+$���	� 	��
��

0��	�������	)���'� �	 !	���	������'��%	&��	����$���
�*�����������%	 1��(�	�2�	?�����'��%	 !	�	�����"��������
�����	 !	�"B���	1	#$�'�	�	2	 �#�������	�� $��	���	������'"
��%	 !	 ���	� �	�����"��������	�����	 1#$�'�	�2�	0��	� �
�����"��������	�����	&��	����	 !	���	����	��������	&���
�	�����	��(��	)��&���	 ���	 !�#��	 1�) $�	���	��(���2�	 ���
����	���#,����	&��	�+$��	� 	��

%���
 &�	 ���#����	 ������'��%	  !	 �����"��������	 1�2	 ���	 � ������"

��������	 1�2	 �������
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0��	������$��	 !	���	 �#������ ��	1∆(1λ2	6	(��*	5

5	(���2	�������	 �	λ	� �"� � � ��#���%�	7���	��#����"

��(	λ�	���	������$��	∆(1λ2	(���$���%	��#�������	������
 '��	��*��$�	1��	λ	≈	��
	µ�2�	����	��#������	���	�� ��
���#��#���%	� 	-�� 	��	λ	8	��	µ�	�$�	� 	��� �(	�)� ���� �
1���	 ���#��	���#,����	α��8	���2�	0��	���#����	� ���� �	 !
���	��*����	������$��	1∆(��*2	��	����������	)%	���	'��"
$��	 !	���	 ���#��	����������	'��$��	8	���	α��

�!	8�'��$�	��	,� &�	���	!��+$��#%	�������� �	 !	����

&��,�����	���#����	� ���� �	 !	∆(��*	��,��	��	� ���)��	� 
���������	α����(���$��	1 �	'�#�	'�����	� 	���������	8
'��$�	�!	α�	��	,� &�2�	C &�'���	��	�������	� 	���������
8	!� �	���	����	���������	��	��(�	�	���	���$����	��	 '��"
������	'��$�	 !	α��	0���	��	�*�������	)%	���	!�#�	����	���
��������	$���	���	�	� ��#��)��	�������� �	 !	���	��!��#"

��'�	����*�	0��	��������#�	�1λ2	��� '��	∆(��*	� 	���
�� ��"&�'����(��	���(��	� �	���	����	���� ��	��	���	���#"
����	���(�	��5�=	µ��	&����	���	������	��	 ��+$�	1�����"
!����#�	��	� �	��# ����2�	���	������'��%	��#������	:�;�

D$�	����%���	�� &�	����	���	��*����	�&��(	 !	����"
�� ��	����	���	��!!����#�	)��&���	���	��������%	����	# ���"
�� ���	� 	���	�������	���(�) �	��*��$�	���	�����$��
��	�����-��	&���	 1→R 	���	 0),( →lTωα �	0���	��,��	��
� ���)��	� 	#�����	�!!�#��'�	�������	�E"� $�#��	����	��'�
�	� �$�����	��������%	 !	������� ��	0��	$��	 !	����# �"
�$#� �	����������	&����	���	# ����� �	 1→R 	#��	)�	�� "
'����	��	�	������'��%	������	&�%	$���(	�	�����#���#	# ��"
��(�	�  ,�	�� �����(�

0��	��$�%	 !	��(��	���	� ����-��� �	��������#���	 !
�������	������� �	&���	#������	 $�	! �	��	��������	0��
������'��%	 !	���	�����"��������	�������	 )( 1ϑA �	� ����"
�-��	��	���	������'��%	 A 	 !	���	� ������"��������	���"
����	&��#�	���	���� ( $�	�����������	��	�� &�	��	��(�	
�
��	#��	)�	�����	���	��(��	��������#���	 !	���	� �����-��
������'��%�	 ( ) ,1 AAA =∗ θ 	! �	$�� ����-��	������� �	1��(�

�2	���	������� �	&��#�	��	� ����-��	��	���	�����	 !	��#�"
���#�	1�	5	� ����-��� ��	��(�	
)2	���	+$�������'��%	�������

%���
 '�	 ?*����������	 ���#����	 ������'��%�	(1λ2	 ! �	 �����"��������
1#$�'�	 �2	 ���	 � ������"��������	 1#$�'�	 �2	 ������	  !	 �"B����

�$�'�	 
	 ����������	 ���	 ��������#�	  !	 ���	  ���#��	 ���#,����	  !

���	�������	α��	 �	λ�	0��	�����	���#,����	��	�	6	���	µm�	���	# �#��"

����� �	 !	� �# ���������	���$������	��	��	5	���6	�F��
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